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QUESTION 1

The network design team has decided to activate multicast in the network. Auto-RP has been selected as the RP
mechanism. Which PIM operational mode must be enabled in this network?

A. sparse mode

B. sparse-dense mode

C. dense mode

D. source specific multicast

Correct Answer: B

QUESTION 2

Click the Exhibit button.

AS 65420

Loopback |Ps

R1 = 2001:DB8:FAC1::A1
R2 = 2001:DBB:FAC1::A2
R3 = 2001:DB8:FAC1::A3
R4 = 2001:DBB:FAC1:A4
R5 = 2001:DB8:FAC1::AS

R4 R4

All routers shown in the exhibit are BGP neighbors. R1 must be a route reflector, and R2 through R5 must be clients. R2
should only receive one copy of all routes sent from R4.

Which configuration is valid?
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A [edit protocols bgpl

root@RE3# show

group ASeaL4Z0 |
twvpe reflector;
local-address 2001:db8:facl::a3;
neighbor Z001:db8: facl: :al;
neighbor Z001;db&; facl::aZ;
neighbor 2001:dkB:facl::a4;
neighbor 2Z001:db8:facl::a5;

- B [edit protocols bgpl]

ract@R1# =how

group AS85420 {
type internal;
local-address=s 20010:dkB: facl::ial;
cluster 10.1.71,1:;
fo—client-reflect;
neighbor 2001:dbk8: facl::aZ;
neighkbor Z001:dkh8;: facl::a3;
neighbor Z001:db8: facl::ad;
neighkbor Z001:dbk8;: facl::as;

'

. [edit protocels bgpl

roct@R3# show

group ASB5420 |
tyvpe internal;
local-address Z001:dkBB: fFacl: a3i;
cluster 10.1.1.1;
no—client-reflect;
neighbor 2001:db8:Ffacl: ial;
neighkor 2001:db8:facl: a2;
neighbor 2001:db8:facl::a4;
nelghbor Z001:db8:facl::ab;

[J. [edit protocels bgpl

toot@R1# show

group AB65420 |
type internal;
local-address Z001:db8:facl::al;
nelighbor 2001:db8: facl::ad;
neighkor 2001:db8:facl:: a3;
neighkbor 2001:db8:facsl::ad;
neighbor 2001:db8:facl: taby
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A. Option A
B. Option B
C. Option C
D. Option D

Correct Answer: B

QUESTION 3

uzerfirouter> show bgp neighbor
Eeer: 2.2.2.2+55344 n5 BS Iiocal: 1.1.1.24373 B8 -BE

Type: Internal State: Established Flags: <Svync>
Last State: OpenConfirm Last Event: RecvEseplilive
Last Error: None
Option=: <Preference Locallddres= Befresh>
Local Address: 1.1.1.1 Holdtime: 50 Ereference: 170
Number of flap=: 1
Tast flap svent: RecvlNotify
Error: "Hold Timer Expired Error' Sent: 0 Becw: 1
Peer ID: 2.2.2.2 Liogdd ID: 1al.ill Active Holdtime: 50
Eeepalive Interval: 30 Peer index: O
BFD: disabled, down
WNLRT for restart configured pgn pesr: inec—unicastc
NLEI advertised by peer: lnet-unicast
NLREI for this sessign: inet—unicast
Peer supportes Refresh capability (2)
Btale routez from fesr are kEpt for: 3040
Peer does not support Bestarter functiomality
NLREI that restart 1= negotiated for: inet—unicast
NLRI of received end-of-rib markers: inet-unicast
NLET of all end-of-rib markers =ent: inet—unicast
Feer =upport=s £ byte BS sxten=ion (pser—a= B5)
Peer does not support Addpath
Table inet.0 Bit: 10000

BEIE State: BGE restart 1= complete

3end state: 1n =ynco

Lctive prefixes: 0
Beceived prefixes: 0
Locepted prefiuxes: 0

Suppressed due to dampiag: O

Ldvertised prefixes: 0
Last traffic (ssconds): Beceiwved 23 Sent 12 Checked EE&
lnput messages: Yotal 13232 dpdates 1K efreshes DU ctets 232552
Output messages: Total 133010 pdates 0R efreshes 00 cteta 252783
Output Queue[0]: O

Which two scenarios would explain the error shown in the exhibit? (Choose two.)
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A. Packets were dropped in the receive path of the local router.

B. The local router received a route withdrawal from the peer.

C. Packets were dropped in the receive path of the peer router.

D. The local router egress interface towards the peer was congested.

Correct Answer: CD

QUESTION 4

Your OSPF network includes an NSSA. Which LSA type is injected into the NSSA by the ASBR?
A. Type 3

B. Type 5

C.Type 7

D. Type 9

Correct Answer: C

QUESTION 5

Click the Exhibit button.

Area 49.6665 Area 497777

ki

/H? R ”I"m
/ /

RS AS R4

{edit pratocols ]
user@R3F show
ignore-atiached-bit:
level 2 disable;
inlerface ge-110/1.0;
intarfaca ge-1/0/2.0;

Based on the exhibit, what do you expect to find in the configuration on R1 and R4?

Latest INO-692 Dumps | JNO-692 Practice Test | INO-692 Study Guide

5/6


https://www.geekcert.com/jn0-692.html
https://www.geekcert.com/jn0-692.html
https://www.geekcert.com/jn0-692.html

VCE & PDF https://lwww.geekcert.com/jn0-692.html
2024 Latest geekcert IN0-692 PDF and VCE dumps Download

GeekCert.com

A. a policy leaking level 1 routes into level 2
B. a policy leaking level 2 routes into level 1 C. a policy setting the attached bit on level 2 routes
D. a policy setting the attached bit on level 1 routes

Correct Answer: B
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